Ne ApTUKYN HanmeHoBaHue Kon
1 CuaeHbe B cbope 1
2 PyneBoe Koneco B cbope 1
3 KonbLo ctonopHoe 2
4 LWalba 2
5 LWaiba 2
6 Koneco 3agHee 2
7 BTynka ocu 2
8 Koxyx 1
9 Tara pynesas 1
10 bont M6x16 4
11 Kpbiwka 1
17 [Buratennb 1
18 Ocb nepegHas B cbope 1
19 bont M6x12 6
20 Mnywuteno 1
21 bont M8x20 2
22 LWaliba 2
23 Laiba 2
24 [eka 1
25 Hanpasnawowas 1
26 Perynatop BbICOTbI KOwWweHMA B cbope 1
27 Pama 1
28 TpaBocbopHuUK B cbope 1
29 MpyXunHa 2
30 bont 2
31 bont 2
33 Kopnyc 1
34 Y3en nenanbHbIN 1
35 baTtapea akkymynaTopHas 1
37 LWarba 1
38 LInoHKa 4
Mogenb
TpakTop TR 102-300
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 1




= o 51
=
)
a2l ™ vla
AL
S| €
3| o |z|4
ern
°| <
& | >|s
- (=
&
)
¢ a
T <
©
o
)
I
]
S
3 =
T = <
x 3
S
SEHE S 2] |2
> §|> e |3l (=
ol 2| 5| e x |E| _|s
Cl=| x([>= © 5l ol
x| ©| B| © o a =
=l x| 2 2 ol 3
= |o|®
dSQ
= 3|2 |w
Ll
[S)
< 8|2
= £|£|E
Q ﬂCD
< Tn_rwm
ol
HE:
ol n| ol =~ o0
w0




Ne ApTUKYN HanmeHoBaHue Kon
1 [909-167-044 |Kopnyc noaLwmnHMKa npasebit B cbope 1
2 |909-167-045 |Kopnyc noAlmnHuUKa nesbi B cbope 1
3 Konbuo ctonopHoe 15 1
4 BuHT ST5.5x13F 1
5 laiika M8 1
6 KonbLo ctonopHoe 32 1
7 LWalba 1
8 [90-0430 MogwnnHuk 6002-2RS 1
9 Ponuk 1
10 WnuHaens 1
11 KpoHwTenH 1
13 bont M8x50 1
14 lalika M6 3
19 bont M6x12 3
22 LWaiiba 8 6
23 LWaiiba 8 1
37 LWaiiba 8 4
43 BTtynka 4
46 BuHT ST4.8x13F 8
47 KoXyx pemHA 1
- g _ _ 48 1909-167-064 |PemeHb KOCW/IKM 1
A 49 bont M10x25 2
D EED 4 4 50 LWaii6a 10 2
89 / 7 A JUTY L 7 51 LWarba 2
a8 i NS ' - 52 Ponuk 1
= [P h= 53 Bont M10x20 1
54 LWaiiba 10 1
56 KpbiwKa 1
57 |909-167-072 |PemeHb 3ybyaTbliii 1
58 WKns 2
59 bont M8x55 4
Mogenb
TpakTop TR 102-300
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 3




Ne ApTUKYN HanmeHoBaHue Kon
60 BTynka 2
62 Kpbiwka 1
63 bont M8x20 1
64 MnacTnHbl 1
67 laiika M8 14
68 Kopnyc aekun

69 Bont M8x80

70 Ponuk

71 Tpy6ka

72 [909-167-084 |lWnoHka 6x20

73 [909-167-085 |Agantep HOXa

74 [909-167-086 |Ho npaBbin

75 [909-167-087 |lLariba

76 [909-167-088 |bont M10x1x40 npaBbliit

77 [909-167-089 |bonT M10x1x40 nesbii

78 |909-167-090 |Hosk neBbi

SV [N g SNy FEEN VO N G FEEN IR FERNY FOUI) [TOUI EENY FEENY o N FEENY N IR ST RN ORI NCT IO NG SNy Y

79 Bont M8x25
80 LWainba pesmHoBan
81 Wryuep
82 bont M6x16
- gL _ _ 83 LWai6a 5
A 84 BTyska
Q ' /' X & VA 85 Mpy*unHa
89\ — ~ T 5 = 86 TH[a
88— ? S=N\P " 87 Faitka M6
S W 88 Konbuo ctonopHoe 20
89 LWainba
90 Kopnyc
91 Ban
92 |90-0459 MNogwunHuk 6204-2RS
94 LinoHKa 6x20
Mogenb
TpakTop TR 102-300
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 4




=1
e
8- ©

89

Ne ApTUKYN HanmeHoBaHue Kon
95 Ban 1
96 MnactnHa 1
102 LLknB B cbope 1
103 Konbuo cronopHoe 35 2
104 Konbuo ctonopHoe 17 2
105 [90-0414 MNogwunHuk 6203-2RS 4
106 WKus 2
107 KpoHwTenH 1
110 Koyx 1
Mogenb
TpakTop TR 102-300

Technical department

Asse

mbly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 5




Ne ApTUKYN HanmeHoBaHue Kon
112 3arnywka 1
113 bont 1
114 Pynesoe Koneco 1
115 Ban 1
116 WrndT 6x35 1
117 LWecTepHa 1
118 LWNCK pyneBoro mexaHmsma 1
119 LWaiba 1
120 3axKnum 1
121 Bbont M10x55 1
122 LWaiba 2
123 Oemndep 1
125 LWaiba 1
126 larika M10 1
128 Wap 1
129 MnactnHa 1
130 BuHT ST5.5%13 2
131 KpblwkKa 6aka 1
132 [aT4ynK ypoBHA TONAMBA 1
133 TonanBHbIN 6aK 1
134 3axum 2
135 LLinaHr TonAnBHbIN 1
13
132
Mogenb
TpakTop TR 102-300
Technical department Assembly drawing
| Engineer, chief designer John Emerson Jr.
- T _i DYNAMIC DRIVE EQUIPMENT, USA Page 6




Ne ApTUKYN HanmeHoBaHue Kon
12 bont M6x16 6
14 Malika M6 6
21 bont M8x20 3
22 LWaliba 8 2
23 LWariba 8 2
37 LWaiba 8 2
67 Malika M8 1
88 Konbuo ctonopHoe 20 1
126 larka M10 4
136 Pblyar noBOpPOTHbIN 1
138 MNnactnHa 2
139 LWariba 10 2
140 Wrnot 4
141 Wrnot 6
143 Pblvar noBOPOTHbIN 2
144 Tara 2
146 bont M8x60 2
147 LWanba 4
148 HaKoHe4YHUK 2
150 Tara 2
151 Pbivar 1
152 laka M10 6
153 WrnoT 2
154 LWalba 4
155 Polyar 2
156 WrnoT 6
157 Bont M10x110 2
158 WapHup 2
159 LWalba 4
160 CrepKeHb 2
161 Wrndt 2
Mogenb
TpakTop TR 102-300
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 7




Ne ApTUKYN HanmeHoBaHue Kon
162 PblyaKHbIN y3en 1
163 BTynka 3
164 MnactuHa 3ybyatan 1
165 KpoHLWTENH cnaeHbs 1
166 LWanba 3
167 Ban 1
168 KHonKa 1
169 PykoATka 1
170 Polyar 1
171 Tara 1
172 MpyxunHa 1
174 MnactnHa 1
175 Mpy*nHa 1
Mogenb
TpakTop TR 102-300
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 8




[& e
s (=] 2l e
IR el S Bl S Bl Bl Kl Bl Bl B i Bl Bl Rl Bl Bl Bl Bl Bl Bl Bl Bl Bl Bl Bl Bl B o S| a
o1 ™ vla
= 1| O 5
g o |E|E
OOME
ern
o|<
Rym
- (=
S
© b
(%]
£ <
©
S Q
I(w —
af oh
2|3 o0 x| o 3 3
>z = =l e Q 2
(- Y ; Z| I = =
Il o — ol o o <
g & Q| 8| o z| 8 3|5 5| = < 5
.nlu = = ol % _WM VWX GVWxBuWM o| = Q. - ~
o | - =| ol = o] L 1eoeeH | I ) c -
S|s ol ™o I — al bl MTl_MTu. Mu.rOrO o =
3| s | 215 o 2| sl o] 8l =| 53| ¢ || 2| 55| & 5| ¢ sl E &
T o| ol | O| © x| E[wo Ol | x x| oo m Q I af oo X S S
S| x| x|os| S| Bl Bl Elo=| E| &) | B Z] | S 2= 2| | | ol E Q] ol X| Qs> S £ -
s|SI5%| 3| 2| ol 2l &S| 8| 8| 5| 2| 8| 8| ] 3| 3|5| & o &| 8] &| &[5 3| 8|S a [8|E|5
=< =< =
MEINMMEI SRR EINEE IR RN RN E N ENEREEE RN EEETE = Wanaw
= (o)) T |w
> — Ol |>
X ! c|l =
= ™~ hkMR
= (o) o|lG|O
Q A\ v o
< o) =
% 0|2
£l
ol R K R K B Bl BN B E ) B D R Kl =l B K B T B N e K K= =l B 1 K1 K =) =
A I R R N N N N R S S E I R A I R T I S K s K I R I R=1R=1k=1B=1 c | >
Ry ) (R R i) Jriw) ) i) [t ) Jrag i) ) ) ) B e B B BRI B I I I BRI BRI RIS wla




Ne ApTUKYN HanmeHoBaHue Kon
; 10 KonbLo ctonopHoe 2
2 BonT M6x16 32
14 laiika M6 40
22 LWalba 7
36 LWaiba 3
260 "
67 fanka M8 35
257 69 Bont M8x85 1
82 bont M6x16 4
113 BuHT ST5.5x13 9
126 Maiika M10 5
e | 128 Ban waposon 1
f3—1— ?“‘319 129 MnactrHa 1
| 3—g 320 | [130 BuHT ST5.5x13 2
S0 146 Bont M8x60 2
©—38| | 149 Faiika M8 8
O35 152 [aiika M10 1
5 205 LWaliba 5
237 KpoHwTenH 1
243 MocT rugpaBanyeckui 1
244 bont M8x25 4
248 BTynka 2
249 MnactnHa peryanposoYHasn 1
250 Pblvar rasa 1
251 BTynka 1
252 OcHoBaHue npnbopHoOI NaHenu 1
253 bont M6x16 1
254 MnactnHa 1
256 MNepekntoyatenb 1
257 Ocb 1
258 MpyXunHa 1
260 Pyuyka 1
Mogenb
TpakTop TR 102-300
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 10




Ne ApTUKYN HanmeHoBaHue Kon
261 Tara 1
263 BTynka 2
264 KpoHLWTeNH poanka 1
266 MpyXunHa 1
267 Tara 1
268 MNepanb 1
269 Haknagka neganm 1
270 MpyXunHa 1
271 Ckoba 1
272 WapHup 1
273 TAara Topmosa 1
i 274 WapHup 1
| 36— 30 | 275 Posmk 1
&340 276 BTynka 1
@—3% 279 KpoHLWTenH TonanBHoro baka 1
O35 | |280 Nemndep 6aka 2
© 281 MnactnHa coeanHUTENbHAA 1
284 Ponuk 1
285 CTepkeHb 1
286 BTynka 4
287 KpoHwTenH 2
289 bamnep 1
290 KpoHLWTenH TonansHoro 6aka 1
291 OrpaHuuunTenb pemHs 1
293 LLlaliba 1
294 laiika M5 1
296 bont M8x70 6
302 bont M8x50 1
313 Tara 1
318 Haknagka 1
319 KpbiwKa 2
Mogenb
TpakTop TR 102-300
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 11




Ne ApTUKYN HanmeHoBaHue Kon
320 Bont M8x45 2
321 Ponuk B cbope 2
322 BTtynka 2
323 |909-167-307 |PemeHb NpUBOAHOM 1
324 Pama 1
328 KonbLo ctonopHoe 28 1
329 (90-0396 NogwwnnHmk 6001-2RS 1
330 Ponuk 1
339 (90-0396 NoawwnnHuk 6002-2RS 2
340 Ponunk 2
341 3arnywka 2
i 343 Konbuo cronopHoe 32 2
| 35~\330 370 Wait6a 6 8

4340

©— 3%

343

&

) ’\\E'g‘ | Hi S\ HEAR Mogenb
233*?r i N NS TpakTtop
2 - R TR 102-300
Technical department Assembly drawing

Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 12




Ne ApTUKYN HanmeHoBaHue Kon
21 Bont M8x20 2
63 Bont M8x20 3

T; 176 bont M8x35 1

‘ 228 KpoHwTenH 1

'L 229 Bont M6x12 1

19 230 MNepekntoyaTennb 1

k 231 Bbikntouatenb 1

i 232 MNaHenb 3agHAA 1

| 233 MnactnHa coegnHUTENbHAA 1

‘ 234 bont M6x20 4

i 235 MpyxunHa 1

! 239 Ban 1

’ 240 MnactnHa 1
241 KpOHLITENH ONOPHbIN 1
242 Lep»kaTtenb cMaeHbA 1
245 MnactuHa ¢urypHas 1
246 MnactuHa ¢purypHas 1
247 OcHoBaHWe cnaeHbA 1
283 Ban ponuka 1
297 Onopa pambl 1
314 KpoHwTenH 1
316 MnacTuHa nepekntovaTens 1
317 [aTymk TpaBocbopHMKa B cbope 1
331 Wnanut 1
332 Polyar 1
333 Maiika M3 2
334 Laiiba 3 2
335 LLaiiba 3 4
336 MWuKpoBbIKAOYaTENb 1
337 bont M3x20 2
338 Kopnyc 1

Mogenb
TpakTop TR 102-300
Technical department Assembly drawing

Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 13




Ne ApTUKYN HanmeHoBaHue Kon
342 LWaiba 10 2
345 Bont M8x140 1
346 Mpy*KnHa 1
347 BbikntoyaTenob 1
348 Kopnyc 1
349 BuHT M5%16 2
350 MnactmHa 1
351 KpoHwTenH 1
Mogenb
TpaKTo
PaKTop TR 102-300
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 14




Ne ApTUKYN HanmeHoBaHue Kon
1 PykoATka 1
2 PyuyKa TpaBocH6opHMKa 1
3 KpbllwKa TpaBocbopHMKa 1
4 Maiika M6 1
5 bont M6x35 1
6 BTtynka 2
7 Wrnot 2
8 3arnywka 2
9 Pama 1
14 MnactnHa coegnHUTENbHAA 2
15 WnanHT 6
16 bont M6x16 4
17 MNnactuHa yrnosasn 2
18 Pama 1
19 TpaBocbopHUK 1
20 MNnactnHa onopHas 1
21 bont M6x20 2
23 LWaiiba 8 4
36 LWaiba 4
67 laka M8 6
189 OcHoBaHue 1
382 CupeHbe 1
392 bont M8x20 4
Mogenb
TpakTop TR 102-300
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 15




Ne ApTUKYN HanmeHoBaHue Kon
14 Maiika M6 4
46 BuHT ST4,8%x13 11
352 KpblwKa npubopHoit naHenu 1
353 Haknagka npnbopHoi naHenu 1
354 MNaHenb npnbopHas 1
356 Bbikntouatenb 1
357 Kpbiwka 1
359 KpblwKa gsuratensa 3agHas 1
360 Haknagka 1
361 Kanort 1
362 Pama 1
363 BuHT ST6.3x16 4
364 Kpbiwka 1
365 Knunca 1
366 KpbiwKa 1
367 Kpbinio 1
369 Haknagka 1
370 LWaiiba 6 4
371 Haknagka 1
372 Haknaaka 1
373 Kpbiwka 1
374 dapa npaBas 1
375 ®apa nesas 1
376 Bont M6x25 4
377 BuHT ST4,2x19 4
379 BuHT ST4,2%25 2
380 MNaHenb 1
381 3arnywka 1
382 3axum 4
383 Waiiba 5 4
384 BuHT ST4,2x25 4
Mogenb
TpakTop TR 102-300
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 16




Ne ApTUKYN HanmeHoBaHue Kon
10 Wnanut 3
14 Malika M6 6
22 LWariba 8 3
46 BuHT ST4,8x13 4
67 laiika M8 1
82 bont M6x16 2
141 KonbLo ctonopHoe 2
148 HaKoHe4HUMK 1
149 laka M8 2
156 Wrndt 2
217 bont M6x45 4
243 MocT rugpasamyecKkmm 1
333 Maiika M3 2
334 Waiiba 3 2
335 LWaiiba 3 2
337 bont M3x20 2
370 LWaiiba 6 2
393 Tara 1
394 MnactnHa 1
395 KpoHLwTenH 1
396 MNepekntoyatens 1
397 Mepanb 1
398 Haknagka neganm 1
399 Haknagka neganm 1
400 Mepanb 3aaHero xoaa 1
401 MnactuHa 1
402 MnacTnHa coeanHUTENbHAA 1
403 MpocTaBKa 2
404 BTy/iKa HenoHoBas 3
Mogenb
TpakTop TR 102-300
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 17




Ne ApTUKYN HanmeHoBaHue Kon

35 |909-167-418 |batapea akKymynaTopHaa

1
132 [aT4ynK ypoBHA TONAMBA 1
181 CuenneHue 1
242 BbikntouaTenb Nog cMaeHbem 1
317 Mepekntoyatenb TPaBoCOOPHUKaA 1
374 ®apa npasan 1
375 ®apa nesas 1
396 MuKpoBbIKAtO4aTe b 1
356 JaTumk 1
520 MNpoBoaa B cbope 1
521 1909-167-428 |3amOK 3a*KuraHmsa 1
522 BuHT ST2.9%6.5 3
523 JunHamumk 1
524 Pasbem 1
525 Pene 2
526 (909-167-433 |BbIkatoyaTenb ¢ NoACBETKOM 1
527 3apagHoe yCTpoOMCcTBO 1
528 Mposoga 1
S \ 5301909-167-436 |Pene cTapTepa 1
;-*‘"‘ 531 Mposog 1
532 CyeTymk moTo4YacoB 1
} { 533 Bbikntouatens 1
e : ¢ 534 Faiika 1
) 548
Mogenb
TpakTop TR 102-300
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 18




